MASENO SCHOOL, BUTULA BOYS, ST MARY’S YALA & KISUMU BOYS

JULY/AUGUST MOCK

121/1 - MATHEMATICS Paper 1 (Alt. A)

MARKING SCHEME

CONFIDENTIAL

Examiner's Name

School..................
Date of Marking .

Marking Guidelines

Examiners are advised to follow the marking scheme strictly.

All marks to be awarded as indicated against each step.

Examiners are advised to follow through the candidate’s work whenever a legitimate alternative

method is used and award full marks accordingly.

Cross — check final answers against method marks.

For unclear or ambiguous solution, consult with the team leader.
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SECTION I (50 marks)

NO. WORKINGS MARKS COMMENTS
1 M1 ¥ Equation fi d
Ex—15 §x quation forme
4
115 M1 v Simplification
_ Al CAO
5. Xx=15x8=120 litres
TOTAL MARKS 3
2 SP= @ X =1.2x
100
125 _
= Tgg 14X =24000 M1 | ¥ Egn. leading to x
1.5x = 24000 M1 | v Simplified eqn.
x = Ksh. 16000 Al CAO
TOTAL MARKS 3
3 Total scores of 5 students
— 68x5=340 M1
Let the 6" score = x
N x+:40 70 M1
X+340=420
X =80% Al CAO
TOTAL MARKS 3
4 LCM =2%x3x7 =168 min. B1
Time =17hrs +5hrs 24 min
=22hrs 24min =1344min M1
N 1344
168 Al
=8 times
TOTAL MARKS 3
5 . .
tan35° = and tan50° =—
X+30
= xtan35" +30tan 35" = xtan 50° M1
xtan50° — xtan 35" =30tan 35°
_ 30tan 35 _42.74m Al
tan50° —tan 35° M1
. h=42.74xtan50°
— 50.94m ~ 50.9m Al
TOTAL MARKS 4
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NO. WORKINGS MARKS COMMENTS
6 | 3x-4y=12=y=3x-3
Som,=—3 Bl v Grad of L
y+2_ 4
~v_a 3 M1 v Simplification
y=—2y, 10 Al | y=-1ix+31
3 3
TOTAL MARKS 3
! A+B=10, l+£:i
A B 12
1 1 5 2 v
— 4= -~ 5A’_50A+120=0 M1 Eqn. formed
A 10-A 12
= (A-4)(A-6)=0 M1 v Complete fact.
A=40r6
WhenA:4, B:6al‘ld Al CAO
when A=6, B=4
TOTAL MARKS 3
8 | x-5<3x+2 |3x+2<2(x+3)
—5-2<3X—X | 3x+2<2x+6 M1 v Inequalities split and
—7 < 2X 3X—-2X<6-2 simplified
-3.5< X x<4
£ =3.5<x<4 Al ¥ Combined inequality
v Number line
<~ > o ——> Bl
-4 -3 -2 -1 0 1 2 3 4 5
TOTAL MARKS 3
9 2
A'S'F:(gj _2 Bl
2 4
25 , P
Area of ABC = i 20=125cm M1
Area of EDBC =125-20 =105 cm? Al A 2 D 3
TOTAL MARKS 3
10 1 2 - ° 2
Area ofAACDzleo xsin120° =43.30 cm M1
30 2 2
AreaofAXDzﬁx&MleO =26.18 cm M1
Shaded region = 43.30—26.18 =17.12 cm? Al
TOTAL MARKS 3
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NO. WORKINGS MARKS COMMENTS
11 | 3x8*"*4+2%* =098
3><23V><23+23V><%=98 M1 v Law of indices applied
1
24=(2")+=(2¥)=98
(27)+3(2”)
241(2”) =98
2
2% =4
2% =2° M1
3y=2
y= Z Al
3
TOTAL MARKS 3
12 S
R Bl v 108°atPoratR
Bl v Complete pentagon
T ¢ Bl v All 5 lines of symmetry
VA b
P
TOTAL MARKS 3
13 | Son=x, Father =7x
7x+8 _3 M1 v Equation formed
x+8 1
7X+8=3x+24
4x=16 .. x=4 Al v CAO
Son =4 yrs, Father =28 yrs B1 v Both ages
TOTAL MARKS 3
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NO. WORKINGS MARKS COMMENTS
14 —1=_1 -5 4 — % % M1
3(-2 -1) (2 &
g2 3)(2 3)_(4+3 6-3)_(7 3 M1
1 -1){1 -1 2-1 3+1 1 4
4 3
AL [ s T
=)< % 7
25 25
2\1 1 % _% % %
c-(e)'()-( 4 ] v
25 25 3 3
[%—% 5 7—%] (% %2}
_%4'% _745+7_75 235 %
TOTAL MARKS 4
15 ¥
{1\1 |
i
4 FEEEH B1 v Line 3x-5y=15
N Bl v Line y=6-3x
) N =] ,
) N e
oE :::::.\:::'.Z;j__;',é*-f";f F\
TN L
, ,_-r-"‘)\ ity _1 13
4 0
x=25y=-15 Bl ¥ Both values of x and y
TOTAL MARKS 3
16 | 30+30+75(n-2)=360 300+105(n—2)=180(n-2) M1 v Equation formed
75(n—2)=300 300+105n —210 =180n —360
n-2=4 75n =450
n =6 sides n =6 sides Al v CAO
X =6-2=4 triangles X =6-2=4 triangles Bl v No. of triangles
TOTAL MARKS 3

MASENO SCHOOL, BUTULA BOYS, ST MARY’S YALA & KISUMU BOYS




6

SECTION I (50 marks)

17 | (a) . -6) (2 -4 -
(i) OB = & + 471 M1 | Finding OB
~.A(2,4) and B(—4,-2)
M(2+2_4,4+2_2] M1 | Mid-point
M (_111) Al Point M
5) (-1 6
o)
3 1 2
IMR|=+/6 + 2 M1
=40 = 6.32 Al
o) (-1 . -1\ (-2
5) 1) |4 M1
S P(-2,-4) Al
(i) (5 (=2) (7
3) (4) |7 B1
6
AB:—$PR B1
Thus AB is parallel to PR Bl
TOTAL MARKS 10
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(@ | Timeinminutes | 10-12 | 13-15 | 16-21 | 22-24 | 25-33 34-39
Tally Il HHH HH- HH- AT | HH--HHT
No. of students 3 6 9 6 9 12
B1 Tally
B1 freq.
(b)
)r
2.5 :
2 EEEE Tt 1
= 2 — e
- — ; AL - 2+ 7: EHENI
3 A A
o 5575 amm ,5,,.%
S 1.5 7797/ Rmm. R /1)
= . Ll /)’/. 7 ’;/r‘r,/’!!/'vl 79 wﬁ/ 1111
5 SRR 777% 777740777 /777 1aas
=2 WEBE 7777 177947 477995 £597/ amam
S | b A g L
= LIS E SIS IS CIEL VIS 5
“ :
0.5 VAN NI AN N
D P A A A A A X A KA A
A AT A TA AT AN 5 -
o B4k e
9.5 15.5 215

Time (minutes)

B1-fd
B2 —bars

(© ()

(i)

Total Area _ E _295
2 2

22.5-18=45

2xw=45

w=2.25

Median =21.5+2.25=23.75

6+9+6
=21 students

M1

M1

Al

M1
Al

TOTAL MARKS

10
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19 | (@ 180 180 _1
X x+18 2 M1
= x* +18x—-6480=0 M1
(x—=72)(x+90)=0 M1
x =72 or —90 (ignored)
S X =72 km/hr Al
®)O) pistance after 20 min = %x?Z =24 km Bl
Time = 156 =11 hours
72+32 2
Meeting time =7.20 a.m.+1% hours M1
=8.50 a.m. Al
(i) Time taken by bus to B from 7.20 a.m.
156 =2 hours 10 min
72
Distance covered by the tractors in 2 h 10 min
.1
—26x32 M1
= 69l km
3
Distance from A =180 —69% M1
2
=110— km Al
3
TOTAL MARKS 10
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y
s 10
w
2 /;/',
\
= 8 - 4
= v il kA s
= "o XA
o A L/ VA 7| i\
- 6 2’ 7 1LY
.-
= £ AV
Y, Y, - /
A 2 | L |
q'_)_ ‘A A XA AV ALY
- 4 VA A VA V. & “ /]
G s nay 4 o’ SIS, " / 7
5 - YAV / % AV
5% P 7 D YA A 97 7
] YA r A" 7 Y. 7% r AL s -
= £ A % TA ? ” "] 1~
- 2 7 YA XA A ; 7.0 20
= NIAYANEAN: VAV YV T
= % 7 7 Y % 1 7 r
7 ;7 XA AN AN ANy A A XA A AA YA Ay XA Y A XAV A XAV IATA VA
TV ITATY AV TVINV T AV AV AT AT AT A "TAYAS VTAY- i
o > X
0 10 20 30 40 50 60

Distance from one end (metres)

(a)

Distance 0|/5(10(15({20|25|30|35|40| 45|50 |55 |60
Width fromriver |0 |2 | 6 |6 | 8 | 4 | 4|6 |8 (9292|180

B2 All correct

(Award B1 if 8 — 11 values are correct)

(b) (i)
Area=%xlo[(0+0)+2(6+8+4+8+9.2)] M1
=352 m? Al
352
10000 M1
=0.0352 ha Al
(if)
Area=10(2+6+4+6+9.2+8) M1
=352 m? Al
_ 352 M1
10000
=0.0352 ha Al
TOTAL MARKS | 10
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21

(@)

(@) (i) 67.5 atQ Bl
Triangle PQR Bl
(ii)Parallel line RS constructed Bl
Bisector of RQ or angle transfer to locate S Bl
Quadrilateral PQSR completed Bl
(b)  Inscribed circle Bl
Radius r = 1.8 cm +0.1cm Bl

(c) Areaof A= L 55x6.7-18.425 cm’
2 M1
Area of circle =3.142x1.8° =10.180 cm® M1
Required area =18.425-10.180 = 8.245 cm? Al
TOTAL MARKS 10
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22 | (@) 256=x°h
- 256 b1
X
(b) A=x%+4hx M1
A=x*+ 4x(2—526J M1
X
A x4 1024 Al
X
; M1
(©) (1) d_A _ 2)(_1034 0
dx X
gy 1024
X
= x} =512
X = 3512 M1
X=8cm Al
256
h = 8_2
h=4cm Bl
W A_g +—10824 M1
A=192 cm? Al
TOTAL MARKS 10
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(@) Location of the centre of rotation by construction

+90° turn about (0,3)

(b) Using the centre of enlargement

Square ABCD correctly drawn and labelled
(c) (i) Line y=x+2 drawn

(i) Square A"B"C"D"
(d) (i) Direct congruency

(if) Opposite congruency

Bl
B2

Bl
B2
Bl
Bl
Bl
Bl

TOTAL MARKS

10
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24

CAO

28 cm B
(@ (i)
282 :202+122—(2><20x12><cosx) M1
cosx:—@:—o.s
480
X=c0s"'-0.5 M1
x=120° Al
(ii)
A=%><20><12><sin120° A=+/30x2x10x18 M1
_ 2
A— 6043 cm? A =603 cm Al
(b) (i)
%xZSxBstin135°:60\@ M1
BC =10.50 cm Al
(i)
20 B 28 M1
siny sinl120°
. 20xsin120°
siny=—"—"=-
28
y=38.21
DC 1050 M1
sin96.79° sin38.21
=16.86 cm Al
TOTAL MARKS 10
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